कार्यपालक अभियंता का कार्यालय, ग्रामीण कार्य विभाग, कार्य प्रमंडल, नवादा।

पत्रांक :- 1259 % 30

/नवादा, दिनांक :- 23·07·2024.

प्रेषक,

कार्यपालक अभियंता, ग्रामीण कार्य विभाग, कार्य प्रमण्डल, नवादा।

सेवा में,

नोड्ल पदाधिकारी (MMGSY), ग्रामीण कार्य विभाग, बिहार पटना।

विषयः

MMGSY (SC) योजना अंतर्गत अनुरक्षण मद में आवंटन उपलब्ध कराने के संबंध में।

महाशय,

उपर्युक्त विषय से संबंधित विहित प्रपत्र में वांछित सूचना उपलब्ध कराते हुए अनुरोध है कि आवंटन उपलब्ध कराने की कृपा की जाय। अनु0— यथोक्त्।

विश्वासभाजन

कार्यपालक अभियंता, ग्रामीण कार्य विभाग, कार्य प्रमंडल, नवादा।

FORM GFR -19A

(See Government of India's Decision (I) below Rule-150)

Name of PIU: Rural Works Department, Works Division, Nawada

Head: MMGSY (SC)

Form of Utilization Certificate for the month of July-2024

(Maitenence Fund)

SL. No.	Name of Scheme	Sanctioned No. & Date	Amount (Rs.)	Particulars
1	Construction of Rural Roads under MMGSY (SC) Maintenance Fund	Letter No. 38 WE Dated 14.06.2024	<u>Rs.</u> 1,06,68,947/-	Certified that out of Rs. 1,06,68,947/-Of grants upto the year 2024-25 in favour of RWD (W) Division, Nawada (bihar) a sum of Rs. 1,06,68,947/- has been utilized for the purpose Schemes as given in margin for which it was given in which it was sanctioned and that the balance Rs. Nil /- remaining unutilized at the end of the period under report.

2. certified that I have satisfied myself that the conditions on which the grants in aid was sanctioned have been duly fulfilled / are being fulfilled and that I have excercised the following checks to see that money was actually utilized for the purpose for which it was sanctioned.

Kind of Checks excercised:

Works have veen supervised by Executive Engineer/ Superintending

(i) Engineer

Periodical inspection has been conducted by Executive Engineer/

(ii) Superintending Engineer

(iii) Construction materials have been tested

Measurements have been recorded in MBs and test check conducted by

(iv) the

Assistant Engineer/ Executive Engineer

(v) All other codal formalities have been observed

3 Physical Progress achieved

(i) Construction of Road works

(ii) Construction of CD works

RWD(W) Division, Nawada

Executive Engineer RWD(W) Division, Nawada

Kylalah

मुख्यमंत्री ग्राम सड़क योजना (SC) के लिए अनुरक्षण मद से संबंधित अधियाचना प्रपत्र, कार्य प्रमण्डल, नवादा

61					पुर्व में उपलब्ध कराये गये राशि का व्यय विवरणी				Total		वर्तमान अधियंचित राशि					
SL No.	Name Of Road		Date Of Complition	Ist Year (In Lakh)	2nd Year (In Lakh)	3rd Year (In Lakh)	4th Year (In Lakh)	5th Year (In Lakh)	Total	Expenditure As on MIS	lst Year (In Lakh)	2nd Year (In Lakh)	3rd Year (In Lakh)	4th Year (In Lakh)	5th Year (In Lakh)	Total
1	GORAPAR GARAY TOLA to PANGARI	Prem Shila	26.11.2020	0.44713	0.52276	0.000	0.000	0.000	0.96989	0.96989	0.00000	0.00000	4.36174	0.000	0.000	4.36174
2	NH-31 to Kena	Sunil Kumar	01.04.2022	0.00000	0.00000	0.000	0.000	0.000	0.00000	0.00000	0.63261	1.11204	0.00000	0.000	0.000	1.74465
3	Giriak Shekhpura Road To Rewara High School	Maa Laxmi Creative Private Limited	29.06.2023	0.00000	0.00000	0.000	0.000	0.000	0.00000	0.00000	0.40920	0.00000	0.00000	0.000	0.000	0.40920
4	Subhanpur Road To. Dihari Mahadalit Tola	Maa Laxmi Creative Private Limited	28.06.2023	0.00000	0.00000	0.000	0.000	0.000	0.00000	0.00000	0.56147	0.00000	0.00000	0.000	0.000	0.56147
5	PWD KAWAKOL to DEEP NAGAR	Abhay Kumar	10.06.2021	0.16290	0.00000	0.00000	0.00000	0.00000	0.16290	0.16290	0.00000	1.24341	8.94757	0.000	0.000	10.19098
			Total	0.61003	0.52276	0.00000	0.00000	0.00000	1.13279	1.13279	1.60328	2.35545	13.30931	0.00000	0.00000	17.26804

प्रमंडलीब-लेखा पैदाधिकारी ग्रामीण कार्य विमाग, कार्य प्रमंडल, नवादा 230२ कार्यपालक अनियंता ग्रामीण कार्य विमाग, कार्य प्रमंडल, नवादा

123/7/14



Agreement No:- RWD, Nawada/ 04 MMGSY/SBD/2019-20 Dated:- 22/4/7070

This Agreement, made the 22th Day of April 2020 between Executive Engineer, RWD(W) Division, Nawada on behalf of BRRDA, Bihar, Patna (hereinafter called" The Employer") of the one part and Abhay Kumar, Vill- Farheda, Post-Phuldih, Dist.- Nawada hereinafter called" The Contractor" of the other part.

Whereas the Employer is desirous that the contractor execute Output and performance based Rural Road Contract for the Construction and maintenance of Road from & CD Works of PWD Kawakol Road to Deep Nagar under Kawakol Block hereinafter called "The Works") & the Employer has accepted the Bid by the Contractor for the execution & completion of such works & the remedying of any defects, there in a cost of Rs. 1,05,58,870.00 (Rs.One Crore Five Lac Fifty eight thousand eight hundred seventy) only.

SI.	Name of Road	Length	Const. Cost.	Maint. Cost	Total Cost	Less/above
3	+	(Km)				in (%)
. 1	PWD Kawakol	2,320	1,44,52,000/-	25,78,000/-	1,70,30,000/-	0.00 %
1	Road to Deep					
6.7	Nagar under		and account of the control of		Karlania Karan	desired and the latest and the lates
3	Kawakol Block		California III and an analysis of	20131 631	The latter of the late.	

NOW THIS AGREEMENT WITNESSETH and the Parties hereto agree as follows:

In this Agreement, words and expressions shall have the same meaning as are respectively assigned to them in the conditions of Contract hereinafter to and they shall be deemed to form and be read and construed as part of the Agreement.

Executive Engineer

RWD (W) Division

We Nameda

3170 mil

(x)	Addenda	issued	during	bid	period.	
-----	---------	--------	--------	-----	---------	--

In Witness where of the parties there to have caused this Agreement to be executed the day and year first before written.

Signature of the Contractor
Adress:- 2017 Unicip

Executive Engineer REXACULTIVE FIRM, Nawada R VIII (MAI) DENISA, In Minawada

Witness	Witness
1.Name:Adress:	2.NameAdress:

SI. No.	Item Description	Quantity	Units	Estimated Rate	TOTAL AMOUNT With	TOTAL AMOUNT
48	Laying (First Class) bedding on well compacted sand, moorum or approved granular material as per Clause 1105 (ii) Type B (First Class) Bedding	8.36	Cum	443.96	3711.51	INR Three Thousand Seven Hundred & Eleven and Paise Fifty One Only
49	Fillling in foundation trenches as per drawing and technical specification Clause 305.3.9 (i)Sand Filling (Using Fine Sand)	13.92	Cum	443.96	6179.92	INR Six Thousand One Hundred & Seventy Nine and Paise Ninety Two Offly
50	Providing and laying boulder apron for bed protection with stone boulders of minimum size and weight as per Table 1300.1, no fragment weighing less than 25 kg laid dry complete as per drawing and technical specifications Clause 1301	13.40	Cum	2457.08	32924.87	INR Thirty Two Trikes Said Wife Mundred & Twenty Four and Paise Eighty Seven Only
51	GST @ 12%	1.00	No.	1534699.68	1534699.68	INR Fifteen Lakh Thirty Four Thousand Six Hundred & Ninety Nine and Paise Sixty Eight Only
52	Labour Cess @ 1%	1.00	No.	127891.64	127891.64 → 1.44 52,000	INR One Lakh Twenty Seven Thousand Eight Hundred & Ninety One and Paise Sixty Four Only
53	1st Year Maintenance cost	2.32	Km	40743.10	94523.99	INR Ninety Four Thousand Five Hundred & Twenty Three and Paise Ninety Nine Only
₹ 54	2nd Year Maintenance cost	2.32	Km	47429.31	110036.00	INR One Lakh Ten Thousand &Thirty Six Only
2 655	3rd Year Maintenance cost	2.32	Km	389032.76	902556.00	INR Nine Lakh Two Thousand Five Hundred & Fifty Six Only
Executive	4th Year Maintenance cost	2.32	Km	92918.10	215569.99	INR Two Lakh Fifteen Thousand Five Hundred & Sixty Nine and Paise Ninety Nine Only
957 Q	5th Year Maintenance cost	2.32	Km	413425.43	959147.00	INR Nine Lakh Fifty Nine Thousand One Hundred & Forty Seven Only
Engineer 58	GST @ 12%	1.00	No.	273819.96	273819.96	INR Two Lakh Seventy Three Thousand Eight Hundred & Nineteen and Paise Ninety Six
59	Labour Cess @ 1%	1.00	No.	22818.33	22818.33	INR Twenty Two Thousand Eight Hundred & Eighteen and Paise Thirty Three Only

Bries sur

CS CamScanner

A.A. Details vide letterio. 845 dt 21-8-1

Construction Cost.5 yrs Maintenance Cost.-

Total 1 173.43 4

715 Details

Construction Cost.
5 yrs Maintenance Cost.
Contagon 4 L

Total

4 173.18 L

Ref. S.E. Letter No. 1959 dt. 19-9-19

nnical Sanction Accorded for Rs. 173.18 4

(Rupees. One Crone seventy three

Lake eighteen thousand the

Technical Sunction clock not mean sance
of rate. Instruction given in technical and
should be followed strictly.

A.E. Sector (S.E. 1911)

Superintending Engineer Runal Works Department Vorks Circle, Gaya